



St. Louis County, Minnesota

Date of Report: 5/14/2025 10:11:55 AM

General Details

 Parcel ID:
 752-0010-00873

 Document:
 Abstract - 772446

 Document Date:
 11/30/1999

Legal Description Details

Plat Name: UNORGANIZED 55-21

Section Township Range Lot Block

5 55 21

Description: N 400 FT OF S 800 FT OF SE1/4 OF SE1/4 EX RY R/W AND EX N 200 FEET

Taxpayer Details

Taxpayer Name NEWBAUER ALEC & DEBORAH

and Address: 2119 HWY 73

HIBBING MN 55746

Owner Details

Owner Name NEWBAUER ALEC D
Owner Name NEWBAUER DEBORAH K

Payable 2025 Tax Summary

2025 - Net Tax \$909.00 2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$994.00

Current Tax Due (as of 5/13/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$497.00	2025 - 2nd Half Tax	\$497.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$497.00	2025 - 2nd Half Tax Paid	\$497.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 2119 HWY 73, HIBBING MN

School District: 701
Tax Increment District: -

Property/Homesteader: NEWBAUER, ALEC D & DEBORAH K

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$29,800	\$292,400	\$322,200	\$0	\$0	-	
	Total:	\$29,800	\$292,400	\$322,200	\$0	\$0	1722	





St. Louis County, Minnesota

Date of Report: 5/14/2025 10:11:55 AM

Land Details

Deeded Acres: 5.57 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

		Improve	ment 1 De	etails (HOUSE)			
Improvement Type	Year Built	Main Floor Ft ² Gross Area Ft ²		Basement Finish	Style Code & Desc			
HOUSE	1979	1,13	36	1,934	ECO Quality / 266 Ft ²	1S+ - 1+ STORY		
Segment	Story	Width	Length	Area	Foundati	on		
BAS	1	8	9	72	BASEMENT			
BAS	1.7	28	38	1,064	BASEMENT			
DK	0	4	19	76	CANTILEVER			
DK	0	8	10	80	POST ON GROUND			
DK	0	8	36	288	POST ON GROUND			
OP	0	6	8	48	FLOATING	SLAB		
OP	0	8	9	72	FLOATING SLAB			
Bath Count	Bedroom Cou	ınt	Room C	ount	Fireplace Count	HVAC		
1.75 BATHS	3 BEDROOM	S	-		1	CENTRAL, FUEL OIL		
Improvement 2 Details (ATTACHED)								
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des		
GARAGE	1979	570	6	576	-	ATTACHED		
Segment	Story	Width	Length	Area	Foundation			
BAS	1	24	24	576	FOUNDATION			
		Improvem	ent 3 Deta	ails (DETACHE	ED)			
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des		
GARAGE	1991	38-	4	384	- DETACH			
Segment	Story	Width	Length	Area	Foundation			
BAS	1	16	24	384	FLOATING SLAB			
	ı	mproveme	nt 4 Detai	Is (SCREEN H	SE)			
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des		
SCREEN HOUSE	1991	140	0	140	-	-		
Segment	Story	Width	Length	Area	Foundati	on		
BAS	0	10	14	140	POST ON GROUND			
		Improvem	ent 5 Deta	ils (POLE BLI	DG)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des		
POLE BUILDING	2000	930	6	936	936 -			
Segment	Story	Width	Length	Area	Foundation			
BAS	0	26	36	936 POST ON GROUND		OLIND		





St. Louis County, Minnesota

Date of Report: 5/14/2025 10:11:55 AM

		Improve	mont 6 Dotai	ls (ST 14X17)					
Improvement Type	Year Built	-		oss Area Ft ²	Raso	ment Finish	Stv	le Code & Desc.	
STORAGE BUILDING 0			238 238		Dasc	-	Oty		
Segment Story			Length	Area	ea Foundation				
BAS	0	14	3		ROUND				
LT	0	4	18	72		POST ON G	ROUND		
		Improver	nent 7 Detai	ls (18x20 cpt)				<u>, </u>	
Improvement Type Year Built		•	Main Floor Ft ² Gross Area Ft ²		Base	Basement Finish Style Code & D			
CAR PORT 0		36	360 360					-	
Segmen	t Stor	y Width	Length	Length Area		Foundation			
BAS	0	18	20		POST ON GROUND				
		Improve	ement 8 Deta	ails (8x7 ST)					
Improvement Type	Year Built	Main Flo	ain Floor Ft ² Gross Area Ft ²		Basement Finish S		Sty	le Code & Desc.	
STORAGE BUILDING	G 0	56	5	56	56			-	
Segmen			Length	Area	Area		Foundation		
BAS	0	8	7 56			POST ON GROUND			
	:	Sales Reported	to the St. Lo	ouis County A	uditor				
Sale Date Purchase Price CRV Number						r			
11/	/1999		\$120,000 131525						
		A	ssessment F	listory					
Year	Class Code (Legend)	Land EMV	Bldg EMV	Tota EM		Def Land EMV	Def Bldg EMV	Net Tax	
	201	\$29,800	\$246,400	\$276,2	200	\$0	\$0	-	
2024 Payable 2025	Total	\$29,800	\$246,400	\$276,2	200	\$0	\$0	1,262.00	
2023 Payable 2024	201	\$29,800	\$246,400	\$276,2	200	\$0	\$0	-	
	Total	\$29,800	\$246,400	\$276,2	200	\$0	\$0	1,262.00	
	201	\$27,900	\$205,300	\$233,2	200	\$0	\$0	-	
2022 Payable 2023	Total	\$27,900	\$205,300	5,300 \$233,200		\$0	\$0	832.00	
	201	\$27,400	\$187,000	\$214,4	100	\$0	\$0	-	
2021 Payable 2022	Total	\$27,400	\$187,000	\$214,4	100	\$0	\$0	1,965.00	
		٦	Γax Detail Hi	story	<u>'</u>				
Tax Year	Tax	Special Assessments	Total Tax 8 Special Assessmen		and MV	Taxable Buil MV		Total Taxable MV	
2024	\$1,089.00	\$85.00	\$1,174.00	\$13,6	17	\$112,58	3	\$126,200	
2023	\$701.00	\$85.00	\$786.00	\$9,9	\$9,955		5	\$83,200	
2022	\$2,249.00	\$85.00	\$2,334.00	\$25,1	07	\$171,34	9	\$196,456	





St. Louis County, Minnesota

Date of Report: 5/14/2025 10:11:55 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.